


B hay scmpte pole oZ 5=
tescdue 2(EM)R,, - b
v 41
) Z nom- trovial
=22 L(=,s) hoveowp’u'c
wlo Res>0

In pect, L(z,4)# O for
X non-lravial

0




HNow vtwtp—wfa( Dercclbet’s _ ©,















@

Lol z; (prim) Diricbtet

chwodlors oss. bo K- |
=\ . K (Jt) X R.‘ "I,‘
( o "'vs"/ld,,l'
tu(s)n] -

Wi’m N L(x‘,ﬂ ) L(Z',,.4) Lﬁp’) '

= 2l o) ™ Ry by,

. =)CO-&7tﬂ'CdlaaLk hq
Pror In,(',h,,uh,{)



G swerad :
_ m.; H‘W’Taf" @
W e dar
l
Let o " (o3 Thn #4)






Ry | et (3 o3 "’1(8")'
1 3Gyl la)

I- = lM[% 2"’3"%&” )R
4 : J'asloa(z)l) )

9



élﬂl‘(

F & bol. vmay. (" -'0}
I ?".4.&- . FCA‘-M.
- F, & Glallyrent (r,=0) '
= Leta'eéal("/p;’)
=) Jﬂ vy:-F-a a.n,@-a...‘
=) ?:’o@’ 'm -
Ly

(3¢ F Gaboos =7 o € Gut(Fp)
<5 Conlrot} '

Sek £ =o(:) )

Lﬂ-: £eblK=.§. @
£






=) 0.(8‘7-‘)3 O'(i)"
cefty ey
=) £~;" eU .
Gl éE= (= g"')  eU - WP

@y

Jumeﬂm

u“" -—uK‘ WK 2 f..l/.(

Assume Uy 2 Uy

=) ]ueu,}%t “ (—H‘

r =t
%1343

X






